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RNIFRIZ=7.1 /0O JRE=(5, 9.3),
RARE)IRE=(5, 6.2),
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wFRE=(7, 3),
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MBI FRI=6.3, ZX)IIFE=38, AR IRE=(5, 13.8),
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BaIGRIE=5.7, & )1I5Rig=4.8, B AIFRi5=(6, 10.6),
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WO ANGRE=(5, 4.6)

1/5




(Bl5Rk4) AT EREE

SH6ESH23HIRE

M4 &%
FEHf-H

HETAS

ERNERRAE

magEe

BEANBKTRICEOEE

W& & mi%=63.4, E+8)IRE=88,
i/ iRNGRE=7, A NRE=19.1,

A2 RINFRE=5.4, B2 )I5E=43,
BRI (EYR) FRt=27.3, sh¥t)IHE=5.2,
BEIGRE=8, 1Tih)1l;R15=6.8,
H)I718=8.3, BU/MNE)IFRE=104,
IR FRIE=47, E£&)IIFE=15.2,

FiRNGRE=10.4, &R WRIER) =19,

HERJFRig=4.9

FaI 2 27 11 i ik= (5, 45.3),
AE+8)IRE=(5, 88),
d/iRNRE=(6, 7),

A FRE=(5, 19.1),
)| FRiE=(5, 4.3),
HIRNI(CEIR) = (6, 27.3),
1THb)IIFRIE=(5, 6.4),

BN IGRE=(5, 10.4),
RN gRiE=(6, 3.8),
FiRNIRig=(6, 8.3),

HOR)I (MRYERE) FRigi=(6, 15.2),

HERJIFRE= (5, 4.9)

2/5




(Rl FRA) HKEERELE SH6E5 A 23R BE

A AT % T T s BEANRK TR LR
R hig K BIEFRE=9.6, \AHE]IFE=121, ERNRE=(5, 62.1), ERINTHR-f/O0I[EB],
SR FRiE=6, IRAB)I (EBFRIE) jRtgi=12.6, | KRS /KEERE=(7, 44.7), FERNFR+BE (&) -/ FB-KRE-
E)I15Ri5=14.8, 183 )15T15=6.3, SENRi%=(6, 7.8), Kimli#],
KBAIGE=7.8, #%85R1E=145, N & H)IFRE=(5, 10.1), A5 [JE2N]
B FRiEi=6.6, fii)ll (FiB48) Ftigi=2.9, HAR)IFRIE=(5, 6),
EABIRE=4.8, FiB)I|5tigi=4.4, RENI(EBRIE) fiE=(5, 10.7),
th 2 BIGRE=6.1, R FKIIRE=6.4, Z)I17715=(6, 14.8),
EARNGRE=13.2, NIR)IGRiE=438, S )IlRE=(6, 4.8),
EXNGRE=3.9, #EH)IFiE=3, ARIIFRE=(6, 7.3),
FAFRE=16.1, &) Fi1H=6.4, #iE)IRE=(6, 11.6),
AN GRIE=9.2, Kiz)5RE=7.8, AllRig=(5, 5.3),
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BB FRiE=4.6, /INRIE)IFRIE=6.1, BAINFRE=(5, 13.2),
H)1 (R ) FRigi=4.4, S )I5RE=6.2, AINBFRE=(5, 4.8),
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BSE)IFRig=(5, 4.3),
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BRNIFE=7.4, $)1IF15=6.4, S )IRE=(6, 3),
FHFNFE=64, EEF)IFE=63, #B)117%8=(5, 13.8),
B2 )IiRig=5.4 AIIRE=(6, 4.3),
BRIFRIE=(6, 5.9),
HE)IIE=(6, 4.3)
NS AF 2)I5kE=6.4, BlLIGRE=124, 2)I5ki8=(5, 6.4), -
kI FRigi=4.7 AL FRE=(5, 9.9),
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Z)FR15=15.6, —Z iRl Fig=4.9, =) FRiE=(5, 7.6),
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REIFE=42, TRHFEA)IFRIEH=37, ) FsE=(5, 9.6),
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Ki#)Imi=4.6, & HIFIE=58, RENFARE=(7, 16.1),
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INEENFRIE=3.7, K RIIFIE=6.3, EREH = (5, 10.7),
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il )1 FisEt=(5, 16.3),
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BI)FRIEE=(9, 13.1),
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R RIIIFE=(5, 7.6)
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